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Geography
Paper 1I

T

gyTutseht 11
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This Paper contains Fifty (50) multiple choice questions, each question carries
Two (2) marks. Attempt All questions.
AT : A1 TRAAehd TR TR (50) SgUEE URH fooiel Rd. Uoeh el g ()

0 . W Y dredl.

1. Endogenetic forces cause relief | 1. a1dsifeh qmilio\d SFEEAqU

(A) =redl
(A) Increase

(B) &Hl B
(B) Decrease
(C) Get distributed (C) fordfta 2ra
(D) Get concealed (D) HTehdl STal

2. Continental drift theory was not | 2. TSoed THgra™ A=l Heeredl el

accepted because ................ IO
(A) The evidences cited were in- (A) o [WE TR B
adequate

(B) St fageisor #r=1 gIoargrRel
(B) Explanation about force was >

not acceptable

(C) Erer=a1 =J9@d  Sired Wl

(C) Jig-saw fit has gaps
3

(D) The evidences cited were not

(D) fooiel qua @il egd

convincing

[P.T.O.



Which of the following is not true

about the esker ?

(A) It is a depositional land-

form

(B) It is a landform of glacial

action

(C) It is a long extending elevated

form

(D) It is an egg shaped hill

Which of the following forms of
transformation is not possible by

wind ?

(A) Suspension

(B) Saltation

(C) Solution

(D) Drag
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N o

qEictush! iU fau™ fedie e

(A) T FETUmR g oTe

(B) T feuict=n ®@= &4 3T

(C) T @™ &¥ TEdd SHgd &9

e

(D) & <A™ STt SHhel

e

JEcTUeh! SHIUIAT J8 YR AT GYad
A& ?

(A) TetsH

(B) SARed

(C) faem=m

(D) wfdemso




Which of the following landforms is
predominently produced by

weathering ?

(A) Abrasion platform

(B) Honeycomb and Taffoni
(C) Stack

(D) Geos

The gusty dry and warm winds of

Rockies are :
(A) Foehn
(B) Loo

(C) Mistral
(D) Chinook

The greenhouse gas released by

livestock is :
(A) Carbon dioxide
(B) Methane

(C) Ozone

(D) Nitrogen oxide
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JEictieh] HI0d &Y IEIH fagro

Yfshod el ST ?
(A) STqEET HE
(B) ik & T
(C) =¥

(D) eAaEfd

TSl At STAIYSk o IS0 IR
BN

(A) IR
(B) 9

(C) firea
(D) fog

A SHRNA Shelell BRAJEAY

(A) FeeE SRS
(B) fag=
(C) e

(D) TENH TS
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10.

The average net radiation balance
of atmosphere is .........cccccuuueen.. kilo

langleys.
(A) zero
(B) +79
() -79
(D) 66

The cyclone formed over Arabian Sea
during June 2010 was named :
(A) Laila

(B) Aila

(C) Pheta

(D) Nargis

of potential

Concept evapo-

transpiration was proposed first
in :

(A) 1925

(B) 1931

(C) 1948

(D) 1955

10.
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ATAEROE FOE A IRU dqad

(A) A

(B) +79
©) -79

(D) 66

S 2010 HEA ST HHTER AT 3rerc]
EEICICCE NG C

(A) e
(B) 3¥en
(C) e
(D) g

Y AdHa Srsalcse! HehedHl JIHT

HEU el oy
(A) 1925
(B) 1931
(C) 1948

(D) 1955




11.

12.

13.

Plants of monsoon region are

called :

(A) Hydrophytes
(B) Hygrophytes
(C) Tropophytes
(D) Xerophytes

Blue mud results from disintegration

of rocks containing :

(A) Iron oxide and ochreous

matter

(B) Silicates of potassium and

glauconite
(C) Skeletons and shells
(D) Sulphide and organic matter

The water body with highest

salinity is :

(A) Lake Van

(B) Dead Sea

(C) Lake Sambhar

(D) Great Salt Lake

11.

12.

13.
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O YeIId I

TEUTATd.

(A) TESTEEH
(B) TEUITEIH
(C) IrdrFEeH

Teahdid IR &R 2l

(A) A sAfase 9 Ahiad qerd

(B) UM faciiched a TolfehMEe

N

(C) wime 9 faua

n

(D) 9chES 9 TgH

TeTef

garasTed &1l

BN
(A) =T TR

STHUTIRT  SAlRTH

(B) 9d 94x
(C) WYR TR

(D) U2 IGiee TR
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14.

15.

16.

Which one of the following is the

most important element of

ecosystem ?

(A) Ecological succession
(B) Energy flow

(C) Food chain

(D) Food web

The warm current that flows along

the Peruvian Coast is called :
(A) Peru

(B) El Nino

(C) La Nina

(D) Gulf Stream

Who is considered as the founder of

human geography ?
(A) Humboldt

(B) Blache

(C) Ratzel

(D) Taylor

14.

15.

16.
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TeTadsh] IfEEA=T HKIUAT FeSh

Yeifsh W= AR ?

(A) aRferdimta srIwfaa fasmm
(B) S Gshyul
(C) I FrEed

(D) 3T Siredt

U&= TR Aot A=A 30 Yo

(A) UT
(B) waA-f
(C) wn-fam

(D) ok €

ATel Tl HEATIeh il HIe

ST ?
(A) e
(B) =1
(C) Iz«
(D) W




17. The term possibilism is coined

18.

19.

by :

(A) Taylor

(B) Blache

(C) Hartshorne

(D) Febvre

Griffith Taylor promoted :

(A) Voluntarism

(B) Stop and go determinism

(C) Possibilism

(D) Determinism

Miss Semple was a disciple of :

(A) Ratzel

(B) Ritter

(C) Humboldt

(D) Blache

19.
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(A) IHfgdETE
(B) ‘gren’ smfor ‘s’ fadE
(C) reHdrEg

(D) fractar

% S hIUTS SgAET Bl ?
(A) Tz
(B) feX
(C) T

(D) st
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20. “Anthropogeographie” is authored

21.

22.

by :

(A) Yi-Fu-Tuan
(B) Ratzel

(C) Spencer
(D) Blache

...................... model appears similar

to that of Von Thunen.
(A) Multiple nuclie

(B) Sector

(C) Concentric

(D) Distance decay

Settlement developing in dry
elevated location surrounded by

marshy area is called :
(A) Wet point settlement
(B) Dry point settlement
(C) Oasis settlement

(D) Hill top settlement

20.

21.

22.
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" sgrafSetTRRn’ @l fafea ?
(A) H-H-gH

(B) I

(C) T

(D) st

GiqHE © A &L =

GfEEl gHOE A9 fogA Ad.

(A) wghs™
(B) favrma

(C) THheH

(D) 3Ad==™

ST, HRSA 9 Sagai]
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TEUTTA.

(A) 38 T ot
(B) ok T o
(C) Head a%il

(D) SR Aol ol




23.

24.

Who introduced the concept of

Rank-size rule ?

(A) R.E. Dickinson

(B) G.K. Zipf

(C) A.E. Smailes

(D) W. Christaller

Natural increase in population

refers to :

(A) Number of births minus

number of deaths

(B) Number of births minus
number of deaths minus

number of outmigrants

(C) Number of inmegrants minus

number of outmigrants

(D) Number of births plus number
of inmigrants minus number of

outmigrants
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23. {®-UEy ®d &I gAfaen ?

(A) ARE. fefr=m
(B) <&, forom

(C) T3 o™

(D) T=g. TR

24. ARSI AGiTHR IS WIS

(A) SE&A TSl &

(B) SE&A oS Y@@ oS dfe:

TIATR T&AT

(C) 3Td: TIATIR G&IT IST dfg; LTI

(D) SHEEAT 31fHeh STaEIeATal Tl o=l

IfgLIeTay &
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25.

26.

27.

Migration of sheperds in hilly area
is termed as ......cco.......
(A) Commuting

(B) Seasonal migration
(C) Stepwise migration

(D) Transhumance

occupation is “Red

Collar” job.

(A) Hotellier

(B) Beautician

(C) Research scientist

(D) Fisherman

Resources are :

(A) Natural endowments

(B) Valuable endowments

(C) Natural potentialities

(D) Exploited potentialities

25.

26.

27.
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S8 YTl HeUlesr=al LIATdd

(A) ST YR

(B) Bl TR

(C) IR IR TR

(D) TSR«

g ‘I HieR HIEHI AR :

(A) 3R HIcTh

(B) gHT&ehdl

(C) Gk SAeh

10



28.

29.

Agglomeration economies are :

(A) Internal to firm

(B) Internal to industry

(C) External to industry

(D) Internal to region

The term ‘Range of goods’ refers

to :

(A) Range of goods sold

(B) Spatial range of goods sold

(C) Maximum distance over which

a consumer moves to purchase

goods

(D) Range of customer drawn

29.
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7 gites  srefeasen

(A) SANR YN ST

(B) SN 3Taid

(C) TN et

(D) YR S

T FE A EI e 3t

R,

(A) Tasht Sciean HArem=t e

(B) faml smieen At stfaeasta
h &l

(C) HIcl BRET HITATHIS! Mk S ST
S S =rerdl

(D) THU WRh HEIHl el

11
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30. Japan imports wood because

31.

she :

(A) Does not possess forests

(B) Wants to save its forests

(C) Has poor quality forests

(D) Has no accessible forests

Mackinder termed Eurasia as

“World Island” because :

(A) It was surrounded by

oceans

(B) It had the largest number of

nations

(C) It was at the centre of the

world

(D) It accounted for about 40% of
land and 80% of world

population
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30. SUM RSNl ST hial RO

(A) AFATHRE JA AR

(B) @ e &0 T Sfesdr

(C) RN SO HHl <=l 3T

(D) T=he gH S AR

31. Hfehew Rfermmen gdyHt o @ foa

(A) 7 9EH deo B

(B) 99 Haiq Ifaer <91 81

(C) § gl U TIE B
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32.

33.

34.

The worst form of Apartheid in the

20th century was in :

(A) Congo

(B) Kenya

(C) Ethiopia

(D) South Africa

Central Asia is a part of :

(A) Islamic culture realm

(B) East Asian culture realm
(C) Meso-African culture realm
(D) European culture realm

Which is the smallest minority

religious group in Maharashtra ?
(A) Buddhists

(B) Christians

(C) Jains

(D) Sikhs

32.

33.

34.
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fogqrean sIdshIdean Haid diEe JehiEl

SIS YUl WIS Bl ?
(A) i

(B) =i

(C) oo

(D) <feor eTftRent

T ST FHERT HIv HEhiaes
U hell Sl ?

(A) TN Thfdes 9o
(B) J8 oTf¥mn AiEhfdeh Uoul
(C) A& 3Mfhhid WEhidh T

(D) I FEhfdh TeH

RIS Faid oM e STeqaes

T RN ?

A) 915
(B) fagwit
(C) SF
(D) 3@

13

[P.T.O.



35.

36.

Garo and Khasi tribes are found
in :

(A) Assam

(B) Arunachal Pradesh
(C) Manipur

(D) Meghalaya

is best

“Functional” region

described as an area with :

(A) Functional uniformity

(B) Functional superiority

(C) Functional nodality

(D) Common interest

35.

36.
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‘T ety ‘e’ eTfeardl ST i

M@eedd ?

(A) IAEH

(B) 3T®UMEA 99T

(C) =for

(D) e

‘HEafyes Youmd’  Halwd  9uid
S — =rEfT
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(A) wEfHs TehfsHEqon

(B) & sl

n
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S is the most reﬁned Q7. e % gﬁ@ﬁ%
technique for agglomerative e m N . . .
TIQRTh [h{UMRITdT Hld HhigqlX dA
regionalisation.
3R,
(A) Ranking
(A) HHA
(B) Median and quartile
(B) WA 9 9qde
(C) Mean and standard
deviation (C) Tl F ywror foreer
(D) ‘Z’ score (D) ‘Z gA
38. India  had  annual = plans | 35 ywam Frftfer drsrr CIISCIG
n ... e
(A) Late 1960s (A) 1960 =T IR
(B) Early 1970s (B) 1970 =N gaidid
(C) Late 1970s (C) 1970 = IawHid
(D) Mid 1980s (D) 1980 =1 H&ATd
15 [P.T.O.



39.

40.

41.

Green Revolution aimed at :

(A) Enhancing farm production

(B) Increasing farm yield

(C) Reducing social disparities

(D) Reducing regional disparities

Chhattisgarh is a :

(A) Dynamic region

(B) Potential region

(C) Problem region

(D) Depressed region

The highest peak in India is :

(A) Mt. Everest

(B) Godwin Austin

(C) Kanchenjunga

(D) Nandadevi

40.

41.
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(C) TS fasmdr sl L

(D) Yefden foaumdr e &
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42.

43.

44.

Identify the pair that does not

match :

(A) Regur—Basalt

(B) Red soil—Granite

(C) Clayey soil—Schist

(D) Laterites soil—Sandstone

The coast of Tamil Nadu has

forests.

(A) Dry deciduous
(B) Moist deciduous
(C) Dry evergreen
(D) Evergreen

Maximum proportion of area under

well irrigation is in :
(A) Gujarat

(B) Maharashtra
(C) Punjab

(D) Rajasthan

42.

43.

44.
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(B) dierEl Ya—irEe
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45.

46.

Maximum production of bauxite in

India comes from :

(A) Gujarat

(B) Jharkhand

(C) Orissa

(D) Maharashtra

For isopleth maps the locational

data related to

necessary.

(A) Points

(B) Lines

(C) Areas

(D) Time
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TSIHE R galld

ST SfeEe = 3cdie Bld.

(A) TSI

(B) IRTE

(C) =

(D) HeRSg

A) foig

(B) o

(C) &=

(D) =1

18



47.

48.

Which of the following IRS satellite

data can facilitate developing a true

colour composite ?

(A) IRS 1A/B

(B) IRS 1C/D

(C) Resource sat 1

(D) Cartosat

A ratio of mean to the

standard deviation is referred

(A) coefficient of variation

(B) coefficient of correlation

(C) coefficient of regression

(D) coefficient of concentration

47.

48.
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qEITIh! HIVT ST.IR.TE. SHEHE
e aend 9o giad Tar 8%

Ihd ?

(A) IRS 1A/B

(B) IRS 1C/D

(C) fddz 1

(D) FEEe

(A) TA-TRiterd o

(B) ©REaY TUTeh

(C) THIS UM

(D) sl UM
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49.

50.

Which two of the following are not

parametric tests ?

(@) Students ‘t’test

(b) Chi-square test
(¢) Snedecor’s F’ test
(d) Kolmogrove-Smirnov test
(A) (@) and ()
(B) (b) and (c)
(C) (b) and (d)
(D) (a) and (c)

Which of the following sampling
techniques is recommended to draw
a sample of villages, spread in
a number of Talukas, from a

district ?

(A) Systematic sampling
(B) Cluster sampling
(C) Stratified sampling

(D) Random sampling

49.

50.
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